Training Examples
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Selecting the Next Attribute

Which attribute is the best classifier?

S: [9+,5-] S [9+,5-]

E =0.940 E£=0.940

Humidity Wind
High Normal Weak Strong

[3+’4_] [6+71_] [6+’2_] [3+’3-]
E=0.985 E=0.592 E=0.811 E=1.00
Gain (S, Humidity ) Gain (S, Wind)

=.940 - (7/14).985 - (7/14).592 940 - (8/14).811 - (6/14)1.0

=.151 .048
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{D1,D2, .., D14}

[9+95_]

Outlook

Sunny Overcast
{D1,D2,D8,D9,D11} {D3,D7,D12,D13}

[2+,3-] [4+,0-]

/A

"
/

Which attribute should be tested here?

Rain
{D4,D5,D6,D10,D14}
[3+.2-]
?




{(D1,D2, ..,D14}

[9+95_]
Outlook
Sunny Overcast Rain
{D1,D2,D8,D9,D11} {D3,D7,D12,D13} {D4,D5,D6,D10,D14}
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/A
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Which attribute should be tested here?

Ssunny ={D1.D2.D8 D9.D11}

Gain (Sgypny » Humidity) = 970 - (3/5)0.0 — (2/5)0.0 = 970
Gain (Ssypny » Temperature) = 970 - (2/5)0.0 — (2/5) 1.0 = (1/5)0.0 = .570
Gain (Sgypny» Wind) = 970 — (2/5) 1.0 — (3/5) 918 = 019
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